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Instructions.  Print name above and return exam when finished.  Do all of the problems in numerical order.  Show all of your work.  Answers without work or an adequate explanation will receive no credit.  Partial credit awarded when appropriate.

1.  Three die are tossed 11 times and the following data is recorded:


10, 14, 15, 13, 12, 10, 11, 10, 8, 3, 18.

Calculate the following sample statistics.  Be sure to provide a formula or an explanation for your answer.

(2) a.  Sample mean?
(2) b.  Sample median?
(2) c.  Sample mode?

(2) d.  Sample range?
(2) e.  Sample variance?

2. Most polls show that a majority of “likely” California voters favor recalling Governor Gray Davis.  The state distribution of party affiliation is 40% democrat, 30% republican and 30% independent.  About 30% of the democrats favor the recall while 80% of the republicans and 60% of the independents favor the recall. 

(5) a.  What is the probability that someone picked at random favors the recall?

(5) b.  Suppose a randomly selected person does not favor the recall.  What is the probability that they are a Republican?

3.  An urn contains 4 green balls and 6 red balls.  Three balls are drawn randomly with replacement.

(3)
a.  Find the probability of drawing exactly two red balls?

(3)
b.  Find the probability of drawing at least one red ball?

(4)
c.  Find the probability of drawing exactly two green balls when the drawings are done without replacement?

4.  (10) Biggie Burger offers extra value meals, which include your choice of sandwich, 2 side orders and a drink.  There are 6 types sandwiches, 8 different side orders and 4 types of beverages.  How many different types of extra value meals can you order?  (Be careful to explain how you decide on the number of side orders)

5.  Let Z be a random variable with the following probabilities.


Z
0
100
200
300
400
500


P(Z)
.10
.20
.40
.15
.10
.05

(10)
a.  Calculate the expected value () and variance 2) of Z?

6.  (10) SAT scores are normally distributed with a mean of 975 and a variance of 3600.  What is the probability that someone will score between 1005 and 1065?

